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Sarah travelled 34.24 km
by car, 2.7 km by bus and
1000m on foot.

How many kilometres did
she travel in total?
How many metres in total? 
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I cut 65cm off 3.5 
metres of rope.

How much is left?
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Use a calculator or written
method.
There is a 15% discount in a
clothes sale.
How much is the discount on
a £200 leather jacket?
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Use a calculator or written
method.
There are 2560 Lira to £1

Find the price in Lira, of a
house costing £60,000.
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The agent’s fees for selling a
house are 5%.

Calculate the fee on a house
sold for £80,000.
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There are 1.43 Euros to £1

What is the price in pounds,
of a car costing 14,300
Euros?
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